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Product-to-Sum Formulas
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sin i cos v = E[Sin(u Fv) + sin(u — v)]
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cosusinv = Efsm(u Fv) — sin(u — v)]

Find all solutions of the equation in the interval [0, 2m). (Enter your answers as a comma-separated list.)
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cos(2u)=cos’(u)—sin*(u)=2cos’(u)—1=1-2sin"(u).
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Solve the equation. (Find all solutions of the equation in the interval [0, 2m). Enter your answers as a comma-separated list.)

3 sin(2x) sin(x) = 3 cos(x)
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Fill in the blank to complete the trigonometric formula.
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Use the power-reducing formulas to rewrite the expression in terms of first powers of the cosines of multiple angles
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